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g → 0
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Q Q≥ = O(1)
m M extremal
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Q = qg ,

q g
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1 1 −Φ−4f−6qGab(ϕ) = diag 15, 10, , e ,
4 4 "#�'$&( )(

−8q −12f − 6e−2f M2 Φ+4f−14q −20qV (ϕ) = e e +
1

e +
1
(N0 +Mφ)2e .

8 8
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√ ∂ν ggμνGac∂μϕ
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1 e−Φ 5M2

Lkin = (∂Φ)2 + + (∂φ)2.  !�"#$
8 2 (N0 +Mφ) 24 (N0 +Mφ)2
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−Φ

Lkin =
1
(∂Φ)2 +

e
(∂φ)2.  !�"%$

8 2 (N0 +Mφ)
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√
x = 4 N0 +Mφ,M

Φ/2 √  !�"'$�
y = 2e = 2 gs.
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�������.4 ×X7 ����
	�������������������	�
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�	����������	���	�*��������������
��������N �����������45��	���
�01#2�

ds2 = h(r)
2
3 ημν dx

μ dxν + h(r)
1
3 ( dr2 + r2 ds 2 ),  !�"6$X7

���	������)	����������
����������������������	������
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������
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����	������r������"��

����������&�����	����������������
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25 π2N 
6p
h(r) = .  !�#7$

6r

8���������������

R4

+ R2 dr
2

ds2 = ημν dx
μ dxν + R2 ds 2 ,  !�#1$

4 2 X7r r
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R6 = 25 π2N 
6. ���	
�p
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���N �����������������������������������������F7 ���
������������������������������
F4����������X7��
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��X7 �����
�������� �
����!"!���#�������!�������������M ����������������
������������������F4���
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����!"!���Π3 ���X7#����������
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�����∫(

φ = C3. ���	���
Π3

�����
�����������������!#�
�����������������������!������������%%��������&������!��'�����∫ ∫(
F4 ∧ F4 ∧ C3 → M φF4. ���	���

11d 4d

������������"���'�������
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�������N  
����������φ 
��

N = N0 + M φ, ���		��
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F4 = d3x ∧ dh−1 + M ∗7 ω3 − M
dr ∧ ω3. ���	-��
r
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φ ∼ M log r. ���	���

.��!������
 ������
����������������
������!
��"��'��������������!�'������
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h(r) = M2 + ���	0�

6 66r 36r
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S11 =
1

2κ 2
11

∫( √ (( 1 )(
d11x |F4|2−g11 R11 + .

2
("�!)*�

+� 	��������
�������X7 = (RR̃)7%�������R �� 	��������������	����
����	��R̃ �����������	��

����������,,���������	���������	���	������������∫(
1 √ ( )(

d11 ˜ ˜S4 = x −g4 R7R4 + cR gmn ∂m∂nφ . ("�-.*
2κ 2

4
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κ 2
11κ 2 = . ("�-#*4 R7
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|ω3|3��1�	�
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����	�X7��
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1 √ ( )(

d11 R̃−6 mn ∂mS4 = x −g4 R4 + c g ∂nφ . ("�-�*
2κ 2

4
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�4���������������������$����
����
������������������������
�����������������s → ∞�����������������
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�"���������������	�����������������( )(
a ( )(

M ∼ exp − Dφ ∼ exp −αDφ , ��
=��
n

a��������������������4:1�����������������α = 
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dDφ = 1 + β2 n . ���22!�

s

$�����	�
��"������������������
���� )(
α

M ∼ exp −√( Dφ , ���2'!�
1 + β2

	��
�����
����������	��������/01�������������������
�����"������������������+��
���

��������"�
��
�
α����

ν ≡ ���24!
α��������

αgeod����������
�����
���������
���������������M ∼ exp(− 5�������
����	��ν Dφ)��
����� √( a

νcrit. = 1 + β2 → αcrit = √( . ���2�!�
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α ≥ α0

TSDC

α0

TSDC

α ≥ α0

TSDC

M = G .

ν

α = −(PMT )i∂i logM = −(PGT )
i∂i logM .

PMT cos(θ)
G

α = |PGT |α .

ν

ν = |PGT |−1 = (1− |PG⊥T |2)−1/2.
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���((u s )(
�z = − ∂ψ logM, ∂s logM . ���!8"�

m n
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�n = √( f ′, = √( f ′, 1 , ���!;"�
m2 2 u s m2 s2 n u

2 f ′2 + n
2 2 2 f ′2 + 1
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�����������	�������	�	��	������������u ���	���������
�sf ′ → γ = const.��
��������f(s) →
γ log s���������	�������������	����������������������	�

1
�n = √( (β, 1) , �������

1 + β2

m���������������� ����β = γ��!"�f(s) ����	�"�	�����������������n = (1, 0) �	��#$
�nu
$���	����������"��������	�	�����������������n = (0, 1) ��	
#$��������
������	���$���	����	����
����$������	��%�#$��	���������	���	��������&���������������	�����������$������"��z�����������
����$�		�������������������������	��

!���	�	�������"�������������	�������&������$�		����������	���������
'��������������

(����%�)����*+(��	�	���	 ���������	��������������	����	��	��������$���#����	��"�����#�����

���������������������������	��������	�������	�������������	�"��#���
���,������-����"�������	�����
−a��	�����������������	�������M ∼ s ������������������������������"���������
����������������
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����.����!������������	��√(
2nu a

γ = − 1 . ����/�
2α2m n crit

"��#���������������%�����������������"�αcrit ������#	��"�γ��0��
������������������	������
γ ≤ γ(αcrit = α0) ����*+(��	�	���	 ����1��	��� ��	�����#�%�#����#������"��%�������������
�%����ψ ����������������	$�������������%$�������������
������αcrit �������������������
��

!����$�������������	�����	��$$��������	��	�������"���������#$��%�	������#��������
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�����������"��#��������	���	������	�%�����������������
��%������������%�����"�����

	��������#$��%�	������$��	����	�����*+(��"������%��������	���������#�	������������$��������

ψ = f(s) → γ log s ����γ �������2���������������������	�����������������	��		�����"�"�������

$�		��������	��"���������	���������	��������������	$������������	��
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	�	�

�"���������#$��%���#��	������#������	$�����������
���$��������"��
$��������$����	��1��	�
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���������	
����������
����
���
��
���
������������������

�
�����
������

1�������������	�$�$���������������������������	�	����
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tj = φj + isj → i∞ , j = 0, . . . , n ,ˆ  &�<&!�

������������������������	�����������������������9����φj ��	�sj ������������������	��������
������
������������������������������������
����������	����������������������������������
������-���������=��
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�������������

2πitjK = − log(pd(s
j) +O(e ))  &�<6!�

������pd(s
j) �����
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��
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2 [ ](n
dDφ

2 = (ds)2 + (dφ)2 + dΔ2  &�<<!finite2s
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−2 [( ]}(
S = d4x

√
−g4 R4 −

n
(∂s)2 + (∂a)2 ,

22 s
.- �20∫
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√ −2nφ (∂a)2
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Gab∂μϕ
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S = ddx −g R− (∂φ)2 − V (φ) , *&�3.
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ds2 = e−2σ(y)dsd
2
−1 + dy2 ,

*&�6.
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φ′′ − (d− 1)σ′φ′ − ∂φV = 0 , *&�4.


φ′ 21
(d− 1)(d− 2)σ′ 2 + V − 1

= 0 , *&�:.
2 2
(d− 2)σ′′ − φ′ 2 = 0 , *&�&.
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φ′ 2Vt(φ) ≡ V (φ)− . *&�'.
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(d− 1) 2 (V − Vt)σ

′ − ∂φVt = 0 , ������

1
(d− 1)(d− 2)σ′ 2 + Vt = 0 , �����

2
(d− 2)σ′′ − 2 (V − Vt) = 0 . �������
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��������������
	����������	� ����������	
������	�σ �	��	��

1 ( )2
(d− 2) ∂φVt + (d− 1) (V − Vt)Vt = 0 . ������
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	��	�����	),
���	#����+	��3
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 �����) √( ∫(φ√Vt d− 1

log = ±2 1− a(φ̃) dφ ,˜ ����'�
V 0 d− 2t φ0
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4!1�����	��1��
� ��
��������	�	��
�����	���/	��
����� �#��������	�y = 0����#��
	���������
����	
#��,��	����φ → ∞��

1	����	��
�������φ → ∞ ���������	��,��	���	�#������	���
	���	��
���
�+	�|φ′| → ∞
���y → 0��������φ′2 = 2(V −Vt) ��������-����
����	

� ���
����
	�#�5	�	��	�����
	�,��	����
��
��	����������������y → 0��6�	�,������
������ 
#��		����
���	��
���|Vt| � |V | ���	���
a(φ) → −∞���7��	+	����
�
� �
���	��������/� ,�,��	����
���	�
�$�����
���,������
������	�

�+	�����	��� ��	�	#���������������
	���������
	����	)��,
	�����
��	���	��������1	��
	�	���	�
�����	��
���,������
��������
�����

�����
	�+�����,	���
	�� 	��������� ���
	��������	�������
� �
��	
�+�����������
	�,��������+�	������8�� �#��	���
��
	���	���

�&�



���������	�
���
���	���������
��

��������	
���
��
������������������������������
�������
������y → 0��φ → ∞ 
��

��������������������������
��������������������a�������������
���������������a��������
�������
�������
���a ≤ 1������������
��
��������a = 0����
�����������������������
�����
���������
���
����
�
�����
������������������ 
���
������������������������������������������
��������

!� 
������������a�����	
���
����

δ φVt(φ) � −c e , ���	"��

������c > 0 
������������������������������
�
����������������#���$���
����
��#�����
$�

%����������������c ����
��������φ&����������������������
�������������
����������
�����
!�������
��������
����
������$������
�����������������������
�
�����$�������δ���
�������√(

d− 1
δ = 2 (1− a) . ���	'�
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∗�����Δ = y 
�"���������������
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�������������������	����������	��	�������	�������
�������
�/����
√

2 2 1
φ � log y , σ � − log y . *+�,�-

3 9

��	��	��	�.��������������	�����&�����φ → −∞ ���y → 0��

������
��
�	������.�	���)	����	���
����
����������&����
�	����

��	

�����������	����
���	�����.�	��	���/�������������	�����*+�7�-���������

3 Dφ
3 Dφ− √ √

Δ ∼ e 2 2 , |R| ∼ e 2 . *+�,�-�

8	���������	������9�	��	�	����)�����
�/��������������&�
��
��
���	���)������

����	���
������	�����
	����*+�,(-�����������)�����.��)��	��������.��&����
����	������&��	��)
��&�
�	���	��	�������	��*+�,-:� [( )]∫ √( ( ) ((

2√ − 3√φ0 − 9αEr 1 9αE 2 1 √
y = | αEr|−1e 2 e 8 dr ∼ Γ , r − Γ , 0 ∼ r . *+�,#-

4 16 4

8��	������	��	���.�������	�9���	���������&�)������

����r → 0��;�������	�9��&�	���������&�
)������

����*+�,(-����
&&��&����y������
�����&��<�σ ����	������
�����*+�,-�.��/������
�����
�
	����
�/�����
����	���)��	���������������������*+�,�-��

���
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��������r → ∞

����������	�
��	���
�
�	�
������������	������
��φ → +∞ ���y → 0������������
����������
�������������
	���������������

�����	�����r → ∞���������������������������������������√
���
������������������������ �����	���� !����������δ = 3/ 2��a = 0��"������������������
����
������a = 0 �����������##�������������
������ ������������	���������������V → 0��
$�����
�����������	�
������������������������	���
�������a = 0 ������������������V � φ′2��
��	��	���������������������c 
�����������φ → ∞ �����������������������������������������

a → 0 ��������������������%��������&�������������'����������
�����

����	���������	�
�	�����
�(����
��	�
√

2 2 1
φ � − log y , σ � − log y . ����)�

3 9

����	������������	�*�
���
�������+������
	�
���������φ → +∞ ���y → 0��%�������
�����
�

���������������
�Δ ��	�R �����Dφ���������
��������������
������,���

-�������������������������
������������	�����	��	�
��
�	���������r → ∞ 
���������

����!�������
�.��
�	�������������
��
�����������∫(∞ 2
( )(√ − 3 9αEr 1 9αE − 3 9αE 2φ0 − 2 − ry = | αE r̃|−1/2e 4 e 16 dr̃ ∼ Γ , r ∼ r 2 e 16 . ���� �
4 16r

���������
��������������
���������������������(�����	���������������
�������r → ∞ ���������	�

��������
�������
������������
	����������������������������������'����������	����
�������
�

�������/�����������������r → ∞��

��'������������
��������������&�
���������	�'��������������	����
�������
��������

9αE 2log y � − r . ����0�
16

1��������
���������'�����������	����
�������
��������!���
��	�����*�σ �����������
�����������

��	���������������
��
��������&�
���������
�y�����
�����
������
�(��������������	�
������
����������������������)���

-���������������
��'������������������������a = 0 ���������������������������

�����������1�
���������������'��������	��	�φ′2/V → ∞ ���������
���������2�%�

�����%��

���������������������������
�&�������������

√ )2
φ′2 3αE 2 1∼ √ r + , ������
V 2 2 3 r

���
������
������
�����

������������
������
������
�������
����������
������������������

�����������
����
�
������φ′ �������	�
�������������
����������y�����������
����������r��3��
�	�����	�����(�	�����������
�������������(��������
����r → 0 ��	�r → ∞ ��������

4�
����
�������������
�������������������������������������������������φ → ∞ ���

φ′2 √3 φ √3 φ+log φ
Vt � ∼ r2V ∼ φ e 2 ∼ e 2 , ������

2
2���
����������������	�����������������V �
������������	�r ∼ φ �
�������r → ∞ ������

���φ(r) �������!���3���	��
����	�����(�	������������������������5������c ������ ���
�����

������������
����������������������������������������������������
����������������
��������

�����������������������.��������c 	��������
������������
�����������&��������������������������

��
���	������

�����������log Vt �����3����	�&�6���
���
��	���������

,,�
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����������������������������������
���	�����	���� ����	��!
	�������"�����������
����� 	����
�	�������
��#	��	�������	��
����������	�����������	���������$�����������������% &��������������������' ����������	���(
� ����	��
�����������)������*����
����������' ��������������������������	��	������������
��������������������������
�����
����������� ����������	���	�+ �	� ��,�����
��#��
������
�&��������������	���� ����	��
�*�-( �	��!(���	����	�� �������
�	����	���	���������$��(
���	�������*�*���	��..�% &���/����0��1�
���������	������ ����	��	�� �������
�	����	�2��

�����
�����������	�������	������&��������������������	��
�� �����)������	��������������� ���
�
�������	������#�������������� ������������ ����	������������	������������������������
�
��� 	�����������
�!p(���	����	�������	� �����
������������	��
�����
�������	������3	�������
������������������	�������������	������!p(���	��� ���������
���� ���	��������������$�����	�
�
������4�������
��	�S8−p �����% &��
�����	����d = (p + 2)(����	���	���� 		�	����� ���	�
���	���	���
�����������	�����/������
������������������	���2������������$	�����&��	���	��
�	���	��	�����������������	�����������������������������	��
������������������ ���
�����	�
�
�����!p(���	���	�����56��

�����������������	�����7�����������������	��	�-�8��
������9������	������ ���	���	�0--1�
���������������
������
�S1 ��������$�����	���
����� 	����
�	��:��N = 1 �����
�������&��	�
% &����	������S1��

���	���������������������$�����	��
������4�������
��	�����S8−p ��� 	����!p(���	��
��� ���
���������	���������� 	�����	��	�������SO(9 − p)(�	�����	������������������� 	(
�����	���������	�����	��� ������	������������ �����	������� �����	�������������������	��&���
����0;4�1�
��������� ����	�
���!p(���	����� ���	���<���������	�� ����	��&�������� ����������
������������� 	�����	������
��������������������	��
�!
	�������"�����������	���� ������(
�����$�����	����	�� ��	����������������������������	��������	��
������������
������	����	�
�
������(����	���	�����������������
��= ���������	��
������� ������������������������
�����
��������������������������	�$� ���������	�������� ��������' �	���������
��	������������&������

��������	>��� ������
�	����	���	�����	��&�8�;��

9�	���
������� �������������� ������ ����	��	��������
�!p(���	����	�����������������
����	�������
����	������������������	��
���?��	�
���������*�-(���	���������	�����
����������
�������!-(���	�����	���������������	���	�������	����	�
�������	��������(� ����
������
��	�
����
��

���������	
��
��
�
������
�����
��������
���

@��� ������	��������������������������	��
�������	����������� ����
���������

�	��������(
��	���	�(n+ 1) ���	�(�������� ���	��	�d+ n ����	���	�����	������� 		�	����� ���	�/����(
��	���	��2��	�d ����	���	���3	�	�&��������	���������������
�����������	�	���������!p(���	���
���������������
������
�S8−p ��������$�����	���

�����������	�������������
���������	���	�n ��)�����	�d+ n(����	���	�A�

ds2 = e−2μ(r)dsd
2
−1 + e2ν(r)(dr2 + r2dΩ2

n) . /��:-2�

������������	���	�ds2 ���	������������� ����
�������)��������������������������������	�(d−1

��������������	���	�����������	���	� �����	����

BC�



p (8 − p)
(p + 2)

S8−p

X8−p

Sn d

2βω(r) 2ds2 = e−2αω(r)dsd
2 + e r0ds

2 ,n

r0 d
ω

α β

α n d− 2
γ ≡ = β2 = .

β d− 2 n(d+ n− 2)

d = 2

d > 2

( )2r2βω(r)e 2ν(r)= e ,
r0

(( )(
ds2d

2αω(r)= e e−2μ(r)ds2d−1 + e2ν(r)dr2 .
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αω(r)y = e eν(r)dr , �������
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�
����
��������
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���������-./��������
�����
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������
��������

0�������������"��������������������
�����������
"
����
�
�
���'�	���
������%��	���

������S5 ���	���
1���
����
������������
�����N ���22��������1�������
���$
%�
�
���
�����(���*��������
��
��
���
���
�
������������.����
�
�
��������	�������������
	��
������
���	������������
�������%
����#��#�����
�����
�
���������#����������������'�35 × S5��
4���
��������
�������
�����������
��������+���������
���
���
��
��
�����������
��������

���#�
�
��
������
�
�����

���������	
��
�

����
���
������	��
�
�

�����
������
���������������������+p����������
�
�������S8−p ���	���
1���
�����������
�%	����������
��������������������������
	�
������-./���������������(p + 2)��
����
�����
�����#��������
��������0����������
������������
�������
����� ������������
����������	���	�
�������������
�
�����������(p+ 2)��
����
������������	�����
��5�������������6���������
�
���
�������
�
���������%	��������
���������������#�	���
������������(p+ 2)��
����
�����-./�
���������
�
�����

,���
��������+p����������
�
���
����������-
����
����������
���0 ≤ p ≤ 8��.�������
����
�������
������	��1�����6�����������

p−7 p+1

ds2 = Z(r) 8 ημνdx
μdxν + Z(r) 8 (dr2 + r2dΩ2 ) , ������10 8−p

(3− p)
Φ = √ log(Z(r)) , ���� �

4 2

�������������	��������
���
"����#�����������
���
���
����( )7−pρ
Z(r) = 1 + ����0 ≤ p ≤ 6 , �������

r ( )(
N r

Z(r) = 1− log ����p = 7 , ����7�
2π ρ

|r|
Z(r) = 1− ����p = 8 . ������

ρ

8����ρ > 0 
������������������!�������������p �= 7 
����	�������������
��������+p���������
N ����
�������p = 7 ��
����	�����������������������
��ρ �
�����������������%	�
�
��
������
���
�
����

9��
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�������������������� ��

!���������������������������p �= 3������������
����������
�
�����������
��������
��
��
r = 0�������������������p����
�������	
���
����������������
�����
���������������p = 3��
��
�������������������"���
��������������������#����������
������
�����
����������
�$#!�

���
������������������
������
�����
���
������"��������������p = 8������������
���������
�
��������������r = 0��#��������������������
��������
����D%����
�������
���
�����
��

�������
������������������
����
���
�������
�&� ��'
������������
�����������������p �= 3 �
��

1 ≤ p ≤ 7���������������
�������������������
����(��)
���
�
����
����������
���*+���
������
�

������
����������
�
����������
��������
����������
��

#����p����
��������������
���������������
����
�������
��''���������������������
��
��
,,�����-� }{∫(

1 √ 1
d10S10 ∼ x −g10 R10 − (∂Φ)2 − eaΦ|Fn|2 . )��&�+

2 2n!

������n = 8−p��#���� .��������������
�����������������
���
������/���������
������
���

�������
�S8−p �����N �
�������F8−p 0�	������������������������
��������������������0�	��������

�������
��������
����������
��������������
���
�������
��
��(p + 2)�����
���
���������
��

'
�������������
���������������
����������
��	
���������
����������������
�������������
�

�
��
������������������
������

#�1�
�������
����������
��
���2�������������)��*�+���������
�����d = (p + 2)�
����
���
���$�
����
�������������-�) 8−p { }p2r p+1 p−7

ημνdx
μdxν + Z(r)

p+1
8ds2d = dr2 , )��&3+Z(r) Z(r)8 8

2r0

����������4���1��
������������
�
�������������
�����
��������������������������p����
���
#���(p+2)�����
���
���������
��
����������������
������������������
����
���
���
�������
��

���������
5��
��������������������
�-�

2r p+12βω(r)e = Z(r) 8 . )��&%+2r0

p#��������
������
�
�������
������2������β2 = �8(8−p)

#����������
��������
����������
������������r = 0��������������������������
��
��
�����
�������
��!����
�
������
��������������
�������
��6��
��������
�����������
��������

�����
���Δd ���������
�������������������������������|Rd| 
����������
�����������
������

�����
���Dφ �����������
�������
��������������������������������
-�⎧⎨(⎩(
(p−3)2

r ����p ∈ [1, 6] �
��p =� 3 ,2p

)��&7+Δd ∼
r8/7 ����p = 7 .⎧⎨(⎩(−

(p−3)2

r ����p ∈ [1, 6] �
��p =� 3 ,p

)���.+|Rd| ∼ −16/7r ����p = 7 .

7(�
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�����������
�
�
�	
������������⎧ √∫ ⎨( |3−p| 9−p− log r ����p ∈ [1, 6] 
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√ √|p−3| p 2|p−3| pDφ Dφp 9−p p 9−pΔd ∼ e , |Rd| ∼ e ����p ∈ [1, 6] 
�
�p �= 3 , ����$��


�
� √ √
− 2 14 4 14Dφ DφΔ9 ∼ e 7 , |R9| ∼ e 7 ����p = 7 . ����%��
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		����"����%���)������
���
������������������%�����������
����� (( ))(

8− p p+1 r p− 7 ( )(
σ(r) = −αω(r) + μ(r) = − log Z(r) 16 − log Z(r) . ����,��

p r0 16

 �����������
��
���y ������
���
�
��∫( ∫ ( ) 8−p
r r p+1 p

αω(r) r
2py = e eν(r)dr = Z(r) dr . �������

r0

����
������
	�!p&��
��������p �= 3, 7���������	�"���r → 0 ����
*��∫(r (ρ)(7−p) p+1( ) 8−p
(p−3)2

2p r p
2py = dr ∼ r . �������

r r0

-������.�
���������,�����������	
��( )(
2p (9− p)

(p−3)2σ(r) � σ y � − log y . ����/�
(p− 3)2

(��"
����"�
�������������������	������σ ��������
�
��������	��
	�
�����������
�������
����
������������$��

4
σ(y) � − log y . ������

p δ2

(���
��������0��
�������*
	������δ 
�
��������"�	�����������
�����a��

4(p− 3)2 (p− 3)2
δ2 = , 1− a = − . ����1��

p(9− p) (p− 9)(p+ 1)

 ���������
*������"��.�
�������������

√
2 |p− 3| 9− p

Dφ(y) � − log y � − √ log r . ���/2�
δ 2 p

1%�
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������y �	�������'��

∫( ∫( ( ( ) 1
r r (( )) 4N r r 7 8αω(r) 7

y = e eν(r)dr = − log dr ∼ r 7 , ���!0�
2π ρ r0

���
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1�����
����������� �

7 7 1
σ(r) � σ(y 8 ) � −αω(y 8 ) � − log y . ���!2�

8

"�����������
�������	�����(�����������3��������
 �

δ2 =
32

, a = 0 . ���!4�
7

)��	�����	�����������	�����������������������	��	���������	��	���%�φ′2 � V ��5�����������	�

�������%�δ2 ������(�����������6����
������������
�����
�����	�������
�	�����
�	��������
�

	�������
�������	��	�������������������	��%������
�����	�	������ �√(
7 4

Dφ(y) � − log y � −√ log r , ���!��
8 14

√ √
8 8−
7
Dφ 2

7
DφΔ9 = y ∼ e , |R9| ∼ e . ���!!��
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q r
s(r) = s0 − log , 23#.45

2π r0
θ

a(θ) = a0 + q . 23#.�5
2π
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�������$�������S1��
����)�
�
���
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ds2 = −dt2 + dx2 + e2Ddzdz̄ , 23#4-54

iθ�
���z = re #�"����
���%
�����
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$������

2 s
2D = −K +K0 = log , 23#4,5

2n s0

����������67�����������

��
��K 2−= 2n
log s#�

8
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��������������
��23#4-5��������������
������
���3#�#,��
���n = 1��������

��
������������
�
���y&�∫( ∫ ( ) 2

r r q rαω(r)
2 rn

2 , 23#495ν(r)dr = 1− log dr ∼ ry = e e
2πs0 r0 r0
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121
n 122y y

r0 r0 2
) � − log 1− q

2πs0
log

11

log y . 23#4�5) = −γβω(y � −σ(y 2 2
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δ2 = 8 , a = 0 . 23#4�5�
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����,7������	������������	���������8�( )(
ds2 = h−1/2(r)ημνdx

μdxν + h1/2(r) dr2 + r2dsT
2

1,1 , ����9�10

��	
� ( )(
M2 log r/r∗

h(r) = b0 + . ������
44r

�
�����������	%�����	�rs ���
�	
�	�h(rs) = 0�������������	
������	�������	
������
�������:��������
���	
�	�∂rh =� 0 �	�r = rs��
����������%��"�����	
���
������������	����
�����	
�������	����

h(r) ∼ r − rs ≡ r̃ . ����;��

�������	�'��	
��������	�
��	��������	<�( )(
ds2 = L2 e−5qds5

2 + e3qdsT
2

1,1 ���;7�10

��	
�L ����!�������������=�	�
������	
�����9�������	�	
�����
�������	
������	
���������)( )41 r 1
q(r) = log h(r) � log r̃ , ���;,�

6 L 6

�
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�����	��>����	%����
�!��	�'���	
���������������	������������	�	
��0������	����
��������	���8� )( )2

5
3 ( )(r 1 1

2 ημνdx
μdxν + h

1
2dr2 . ���;-�L2ds25 = h−h 2

L
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L


�������������
1

σ(y) � − log y . ������
10

����������������� 	�!��	����������� ���!��������� �
���������	�"�	�����#�$�%��������	!��
�	������ ������	��
���� √

2 30 3
δ = , a = − . ������

3 2

$�������� 	�����&���������� 	�!��	���	������ ����� ��� 	��� ���������	����"	������ ������	���
����'('(��)�	��� ���*���%��

M
T (r) = T̃ +M log r � Ts + r ,˜ ����+��

rs

������������������#�$�%�������"���������Ts = T (rs)��
�����
������&������%������������
����� �����"��������	"������������	�����,---.�� ���*���%��

−1dD2 = 30(∂q)2 +
1
g e−6q(∂T )2 . ����/�φ s2

0 ����������	��� ��	��q ����T �������r̃ → 0 ��"����
����*��( )21 M 1
(∂q)2 � , e−6q(∂T )2 � . ������

36r̃2 rs r̃

1	��r̃ → 0������%���������"	�� ��	"����� ���������� ������� �������������2 ������1	��	
����
������ �! �	�������������������� ���������� �"��	����������	�� ������3���	������� �� ����
�	���� ��
��������r → ∞ ��"�����	��
�������������2 ��������3���	���
� � �	
���	�%���������
�	�2��	�� ��������������4��������
����*��

−2dD2 � 30(∂q)2 � 5
r̃ . ���-55�φ 6

0�	�����������	������! ��������4��
��	%�����

√
30

D(y) � − log y . ���-5-�
10

��� ���������&� ������	�"��	!������	!���	��������� � ���	�������%	*���	�6����� ���������
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���� 	�����&������������� �������	����������	"�,---.� ���� �� �����������%��
�����	����"	����������	"�������	��������� �

−8q M2 −14q −20qV (φ) = −5e +
1
gs e +

1
(N +MT )2e . ���-57�

8 8
√

8�!���������T = Ts ����D � − 30 q � ����������%�����-55���
������

√ √ √
4 30 1 7 30 1 2 30Dφ Dφ DφV (Dφ) = −5e 15 + gsM

2e 15 + (N +MTs)
2e 3 . ���-54�

8 8
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2	�+������������	���� ������������#��3��	����������������4�0���!���*�����*�� � ��������������
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	�������	���������9����!������������������	������������
�������!���������(�������	����� �
�����������������������������!�������������8�	���������	��������������������8�	�����δ��
�����
�������3�����������������������	��	�������������!���	�����	���	�������	�������������
&������� ��	�����������8����� ��	��	� ��������*���!�����������*�� ��������

:�������	��� ������� ��&�������	�+�������������������	��	��"�#/$�
����"
�-�
��$��	������
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V ′
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V

&������������������������������8�	�����δ ∼ O(1)�������	�������������*������� ��&�������	�)
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2|∇V | ≥ √( V . 
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(d− 1)(d− 2)

7����V < 0�������	�������������������>�	������	�������� �������V > 0�����	�����������������
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N = 2

ÂK−1

N = 2
K TK

2

N = 2

N = 2
AdS5

5

S5/Γ
Γ ⊂

SU(2)
AdS5 × S5/ZK

N = 2
G = SU(N)K

ÂK−1

N

N = 4
SU(KN)

τi τ0

K∑τ0
τi = , τ = τi .

K
i=1

τ0 = τ
τi

K − 1

τi ∈ {τ0, τa} , a = 1, . . . ,K − 1.

ZK ⊂ SU(2)

C
3

Zk S5 (z1, z2, z3) →( )
2πi/K −2πi/Ke z1, e z2, z3
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M� −αDφ(τ)∼ e . +,�--/
MP l
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P
N = 4 SU(P )
1 � P � M � N

S3

P P

5 × S5 P

5 × S5

P P

dP3



dP3

dP3

dP3

M P
S1

dP3

dP3



P � M M
H3

P
M N M

P/M N
M

dP3

M P
M

P
S3

M P P



dP3 (M + P )

dP3

S3

P
P1 P2

S3 P1, P2 � 1 v
SU(P ) → SU(P1) × SU(P2) P1 + P2 = P v

Λ SU(KM + P ) × SU(KM + M + P )

Λ S3
5×S5

P v

5 × S5 P1 P2 v � Λ
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ds24 ∼ dy2 + y
2
3dΩ2

3 . !"�2#%�

�����������������
��	� �
�������
��������!$�*%��������
���*�����������	 �������
�������√
�
���������	��������*�#��4�����!"�#*%�����	������
�	
�a = 0��	������ �!"�+%�δ = 6��
5�
����
�������
����������������
��
����	������������
������
	
�������
�������������������
	�
��

	���
�������
��������� ��	��
��
���Rd = 0 �	����

����������	
��	������
	�����
����	 �������
���� �
������'�������
����	������

6��������!"�#2%��ω � −2

√( √(
ω = − 3

8
log r̃ � − 2
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�	������	����	��	���������������	��	����	����φ → ∞ ��� 
��!"��#	�����$���%�������������√( √ b
1− a(φ) = 1− a+ .  &��"

φ
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d−12 b
d−2�����	�����������	�����������������������	���	��c ∼ φ ��+	�����������������$�������
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